
【例題】
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百 十 一の位

?

(50+7)× ?

77＝ 50× ? ＋ 7× ? に近づければよい

? を1にして 57≦77 で成立
百 十 一の位

?

(50+7)×

201＝ 50× ＋ 7× に近づければよい

?

? ?

? を4にすると、

だけで200となるため、明らかに201を超えてしまう

? を3にすると、

50×3＋7×3＝150＋21＝171≦201 で成立

百 十 一の位



【練習問題３】

① ②
3 1 7 3 5 3 4 8 2 4

③ ④
1 9 3 1 3 2 6 6 4 0

⑤ ⑥
3 9 9 2 5 1 9 9 3 2



【解答３】

① 2 3 ② 2 4
3 1 7 3 5 3 4 8 2 4

6 2 6 8
1 1 5 1 4 4

9 3 1 3 6
2 2 8

③ 1 6 ④ 2 4
1 9 3 1 3 2 6 6 4 0

1 9 5 2
1 2 3 1 2 0
1 1 4 1 0 4

9 1 6

⑤ 2 3 ⑥ 4 9
3 9 9 2 5 1 9 9 3 2

7 8 7 6
1 4 5 1 7 2
1 1 7 1 7 1

2 8 1


